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LAPB = % x 180° = 90°
s Ly = 180° = (90° + 50°) = 40°




3.

Oh& TR 22x - 2y O] gE2 GuiRIZF?

® 124° (§§)122° ® 1200 @ 118°

® 116°

/x = 180° — 58° = 122°
[x = Ly = 122°
S 24x — Ly = 122°




oS 1o 4 AHLBC, /BAC = 90°
A o, cosx +siny 2] FH2?

3 7 3
doaf F
©; O

BC= VT & =5
(ABH =y, /ACH = x

AC AC 4
ABC | & = — = siny= — = —
AABC A cos x . , siny 5

8
. cosx+siny = 5




o2 dg A /BAC = 90° o],
BCLAH®|t}. /CAH = xgt & o,
tan x 9] 3F2?

2 3 4
@ 5 ® 5

AC=V152-122=9
AABC @ AHAC (+ AA BS)

9 3
_ o= = — = —
x = /ABC ©]|2 2 tanx -1




The F0l EE B x4y o e FoIH?

2Zte sin cos tan

14° 0.2419 0,9703 0.2493
15° 0.2588 0.9859 0.2679
16° 0,2766 0,9613 0.2867

sin x = 0.2766 , tany = 0.2493
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'c:_)_]_-ﬁd’ AABF Oﬂ}\i /x = /ABF + /BAF = 30° + 70° = 100°
TE3H oABCD o)A tzte] ghe 180° o]|B &2
/Ly =180°-70°=110°

SoLx+ Ly =100°4110° = 210°




25.

g 184 9 0
ABC ¢] Yy ¢o],
Azoltt. o] o, M

ok gy e

=7

@64—% @ 72— 4n ®)84 — 9
@ 90—% ® 100 - 257

B
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